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WEST BENGAL STATE UNIVERSITY 
B.A. Honours 1st Semester Examination, 2021-22 

PHIACOR01T-PHILOSOPHY (CC1) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Question No. 1 and 2 are compulsory. Answer any two from the rest 
১নং এবং ২নং pű আবিশ°ক। অবিশŶ �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any five questions from the following:
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is knowledge, according to Plato? 
�pেটার মেত jান িক ? 

(b) How does Aristotle define ‘matter’ and ‘form’? 
অ°ািরsটল কীভােব উপাদান ও আকার–এর সংjা িদেয়েছন ? 

(c) What is the first principle of Descartes’ Philosophy? 
�দকােত�র দশ�েনর pথম নীিতিট িক ? 

(d) What is innate idea, according to Leibnitz? 
লাইবিনেজর মেত,সহজাত ধারণা িক ? 

(e) What does Descartes mean by ‘Criterion of truth’? 
�দকাত� ‘সত°তার মানদč’ বলেত কী বুিঝেয়েছন ? 

(f) What is Pantheism? 
সেব�Ƭরবাদ িক ? 

(g) What are the three kinds of knowledge admitted by Spinoza? 
িsেনাজা sীkত িতনpকার jান কী কী ? 

(h) What is attribute, according to Spinoza? 
িsেনাজার মেত gণ কী ? 

(i) What is the distinction between Truths of reason and Truths of fact? 
বুিdসংkাn সত° এবং তথ°সংkাn সেত°র মেধ° পাথ�ক° কী ? 

(j) What is ‘Pre-established harmony’, according to Leibnitz?  
লাইবিনেজর মেত, ‘পূব�-pিতিŸত শৃðলাবাদ’ কােক বেল ? 
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2. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ  

5×2 = 10

(a) How does Plato refute the view that sense perception is not knowledge? 
�pেটা িকভােব এই মত খčন কেরেছন �য ইিndয় pত°k jান নয় ? 

(b) Does Aristotle recognize the possibility of ‘Pure Matter’? 
অ°ািরsটল িক িবǖd উপাদােনর বাsবতা sীকার কেরেছন ? 

(c) How many types of Ideas are accepted by Descartes? Explain with examples. 
�দকাত� কয় pকােরর ধারণা sীকার কেরেছন ? উদাহরণ সহেযােগ ব°াখ°া কেরা। 

(d) What does Spinoza mean by ‘Intellectual love of God’? Explain briefly. 
িsেনাজা ‘ঈƬেরর pিত �বৗিdক অনুরাগ’ বলেত িক �বােঝন ? সংেkেপ ব°াখ°া কেরা। 

  
3. Explain Aristotle’s criticism against Plato’s theory of idea. Discuss, in this 

connection, Aristotle’s ‘Third Man’ argument.  
�pেটার ধারণাতেttর িবrেd অ°ািরsটেলর অিভেযাগgিলর ব°াখ°া কেরা। এ pসেñ অ°ািরsটল pদt 
‘tতীয় মানব’ যুিkিট আেলাচনা কেরা। 

10+5

  
4. Explain fully the Cartesian method of doubt. Discuss in this connection whether 

Descartes can properly be called a sceptic. 
কােত�জীয় সংশয় পdিতিটর িবশদ িববরণ দাও। �দকাত�েক িক pkত অেথ� সংশয়বাদী বলা যায় ? 

8+7

  
5. Discuss, Descartes’ doctrine of substance. How does Spinoza develop Cartesian 

dualism into monism? Discuss.  
�দকােত�র dব°তtt আেলাচনা কেরা। িsেনাজা কীভােব �দকােত�র �dতবাদ �থেক অৈdতবােদ উপনীত 
হন ? আেলাচনা কেরা। 

7+8

  
6. What are Monads, according to Leibnitz? If the Monads are qualitatively different 

then how is the harmony of the world maintained? 
লাইবিনেজর মেত িচৎপরমাণ ু িক ? িচৎপরমাণুgিল যিদ gণগতভােব িভn হয়, তাহেল জগেতর ঐক° 
িকভােব ব°াখ°া করা যায় ? 

5+10

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
––––×––— 
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WEST BENGAL STATE UNIVERSITY 
B.A. Honours 1st Semester Examination, 2021-22  

PHIACOR02T-PHILOSOPHY (CC2) 

WESTERN LOGIC-I 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 GROUP-A
িবভাগ-ক 

1. Answer any five questions from the following: 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is the negation of a contingent statement form? Why? 
একিট আপিতক বাকয্াকােরর িবrd বাকয্ কী ও �কন ? 

(b) What is exclusive disjunction? Give example.  
িবসংবাদী ‘অথবা’ বলেত কী �বাঝায় ? উদাহরণ দাও। 

(c) What is truth functional compound statement? 
সতয্ােপk �যৗিগক বাকয্ কােক বেল ? 

(d) If ‘P’ is true, then determine the truth value of )()( QPPQ  

যিদ ‘P’ সতয্ হয় তেব )()( QPPQ -এর সতয্মূলয্ িনণর্য় কেরা। 

(e) What are the characteristics of Rules of Replacement?  
pিতsাপেনর নীিতর ৈবিশŶয্gিল িক িক ? 

(f) We can find a shorter truth table only when the argument is invalid — Explain. 
�কবলমাt যখন একিট যুিk, অৈবধ হয় তখনই আমরা সংিkp সতয্সারণী �পেত পাির — বয্াখয্া কেরা। 

(g) What is ‘Indirect Proof’ (I.P.)? 
পেরাk pমাণ পdিত কােক বেল ? 

(h) What is counter example? 
বাধক দৃŶাn কােক বেল ? 

(i) A valid argument may have a false conclusion — Is this statement true? 
একিট ৈবধ যুিkর িসdাn িমথয্া হেত পাের — িববৃিতিট িক সতয্ ? 

(j) What is substitution instance? 
িনেবশন দৃŶাn কােক বেল ? 
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 GROUP-B 
িবভাগ-খ 

2. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ  

5×2 = 10

(a) What are the differences between Material Equivalence and Logical Equivalence? 
বstগত সমাথর্তা ও �যৗিkক সমাথর্তার পাথর্কয্ �দখাও। 

(b) What is Conditional Proof? Explain with examples. 
pাকিlক pমাণ পdিত কােক বেল ? উদাহরণসহ বয্াখয্া কেরা। 

(c) Is method of truth-tree an indirect proof? Give reasons for your answer. 
সতয্শাখী পdিত কী একিট পেরাk pমাণ পdিত ? �তামার উtেরর সপেk যুিk দাও।  

(d) How does the law of exportation validate the rule of conditional proof? 
Exportation-এর সূtিট িকভােব pাকিlক pমাণ িবিধেক ৈবধ কের ? 

  

 GROUP-C 
িবভাগ-গ 

3. Answer any two  questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

15×2 = 30

(a) Determine whether the following statement forms are tautology, 
self-contradictory or contingent by means of truth table. 

সতয্সারণীর সাহােযয্ নীেচর বাকয্াকারgিল sতঃসতয্, sতঃিমথয্া না আপিতক তা িনণর্য় কেরা। 
 (i) qrpqrqp )()()(  3

 (ii) rqprqp )()(  3

 (iii) Define tautology and Self-Contradictory. 

 sতঃসতয্তা ও sিবেরািধতার সংjা দাও। 

3

(b) Use truth table to determine the validity or invalidity of the following arguments:  

সতয্সারণীর সাহােযয্ িনmিলিখত যিুkgিলর ৈবধতা বা অৈবধতা িনণর্য় কেরাঃ 

(i) QPO )(  
 )()(/)( POPOPOQ  

(ii) If Japan continues to increase the export of oil, then either Korea or China 
will suffer economic decline. Korea will not suffer economic decline. It 
follows that, Japan continues to increase the export of oil, then China will 
suffer economic decline. 

 যিদ জাপান অনবরত ৈতল রpািন বৃিd কের, তাহেল হয় �কািরয়া অথবা চীেনর অথর্নীিতর অবkয় 
হেব। �কািরয়ার অথর্নীিতর অবkয় হেব না। সুতরাং যিদ জাপান অনবরত ৈতল রpািন বৃিd কের, 
তাহেল চীেনর অথর্নীিতর অবkয় হেব। 

3+3
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4.  (a) Use truth tree method to test the following arguments: 

সতয্শাখী পdিত pেয়াগ কের িনmিলিখত যুিkgিলর ৈবধতা িবচার কেরাঃ 

(i) CBA )&( , BAC /  

(ii) Moriarty is guilty. Though Crumm is guilty, Moriarty is not. Therefore 
Holmes is a violinist. 

 মিরয়ািটর্ অপরাধী। যিদও kাম অপরাধী, মিরয়ািটর্ নয়। সুতরাং �হামস একজন �বহালাবাদক। 

3+3

(b) Use truth three method to determine whether the following propositions are 
consistent: 

সতয্শাখী পdিত pেয়াগ কের িনেmর বাকয্gিল সñিতপূণর্ িকনা িবচার কেরাঃ 
(i) CA )B&(  

(ii) DA  

(iii) )( DCB  

4

(c) What is meant by a ‘model’ of a consistent set of statements in the truth tree 
method?  

সতয্শাখী পdিতেত একিট সংগিতপূণর্ বচন সমিŶর সাধক দৃŶাn বলেত কী �বাঝায় ? 

2

(d) Determine by truth tree method whether the following statement is tautologous or 
not: 

সতয্শাখী পdিতর সাহােযয্ িনmিলিখত বাকয্িট sতঃসতয্ িকনা �দখাওঃ 
 )()B&( ACA  

3

  
5.   Construct formal proof of validity of the following arguments: 

(Do not use C.P. or I.P.) 

িনেmাk যিুkgিলর আকারগত ৈবধতার pমাণ দাওঃ( C.P. বা I.P. বয্বহার করা যােব না) 

5×3 = 15

(a)  )()(/)()( WPSHWSPH  

(b)  )(~ KJJ  

 JJLLJ )(/  

(c) If the first disjunct of a disjunction is true, the disjunction as a whole is true. 
Therefore, if both the first and second disjuncts of the disjunction are ture, then 
the disjunction as a whole is true.  

যিদ ৈবকিlক বচেনর pথম িবকl সতয্ হয়, তাহেল সমg ৈবকিlক বচনিট সতয্ হয়। অতএব যিদ 
ৈবকিlক বচেনর pথম এবং িdতীয় িবকl সতয্ হয়, তাহেল সমg ৈবকিlক বচনিট সতয্ হয়। 

  

6.  (a) Use the method of Conditional Proof to prove the validity of the following 
argument: 

pাকিlক pমাণ পdিতর সাহােযয্ িনmিলিখত যুিkিটর ৈবধতা pমাণ কেরাঃ  
 )]()[()(/)()]([ HJHIIHJIJIH  

4
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(b) Use the method of Indirect Proof to prove the validity of the following argument: 

পেরাk pমাণ পdিতর সাহােযয্ িনmিলিখত যিুkিটর ৈবধতা pমাণ কেরাঃ 
 )( CBA  

 EDB )(  

 EAD /  

3

(c) Prove the invalidity of the following argument by the method of assigning truth 
values: 

সতয্মূলয্ আেরাপ পdিতর সাহােযয্ িনেmর যুিkিটর অৈবধতা pমাণ কেরাঃ 
 )()( DCBA  

 ])~[( EAB  

 DE  

 BA  

 D  

4

(d) Use the method of Indirect Proof to verify that the following is a tautology: 

পেরাk pমাণ পdিতর সাহােযয্ pমাণ কেরা �য িনmিলিখত বাকয্িট sতঃসতয্ঃ 
 )]([ BAAA  

4

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
  to their own respective colleges on the same day / date of examination within 1 hour 
  after end of exam. University / College authorities will not be held responsible for wrong 
  submission (at in proper address). Students are strongly advised not to submit multiple 
  copies of the same answer script. 

 
––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 1st Semester Examination, 2020, held in 2021 

PHIACOR01T-PHILOSOPHY (CC1) 
Time Allotted: 2 Hours Full Marks: 50 
The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Question No. 1 and 2 are compulsory. Answer any two from the rest 
১নং এবং ২নং pű আবিশ°ক। অবিশŶ �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any five questions from the following:
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is substance, according to Descartes? 
�দকােত�র মেত dব° কী ? 

(b) How many types of Idea are accepted by Descartes? 
�দকাত� কয়pকার ধারণা sীকার কেরন ও কী কী ? 

(c) Mention any two differences between the views of Descartes and Spinoza. 
�দকাত� ও িsেনাজার অিভমেতর মেধ° �য-�কােনা dিট পাথ�ক° �দখাও। 

(d) What is the main tenet of Spinoza’s metaphysics? 
িsেনাজার অিধিবদ°ার মূল িবষয় কী ? 

(e) What does Spinoza mean by ‘modes’? 
‘িবকার’ বলেত িsেনাজা কী বুিঝেয়েছন ? 

(f) What is ‘Intellectual love of God’, according to Spinoza? 
িsেনাজার মেত ‘বুিdসĂাত ঈƬরেpম’ কী ? 

(g) Why Leibnitz is called ‘extreme rationalist’ philosopher? 
�কন লাইবিনজেক ‘চরমপnী বুিdবাদী’ দাশ�িনক বলা হয় ? 

(h) Is the notion of substance of Leibnitz differ from Cartesian view and atomistic 
view? 
লাইবিনেজর dব°তtt িক কােত�জীয় মত ও পরমাণুবাদীেদর মত �থেক িভn ? 

(i) What is the ‘Law of Sufficient Reason’, according to Leibnitz? 
লাইবিনজ sীkত ‘পয�াp যুিkর িনয়ম’িট কী ? 

(j) How does Leibnitz distinguish between perception and apperception? 
লাইবিনজ pত°k ও সংpত°েkর মেধ° িকভােব পাথ�ক° কেরেছন ? 

  
2. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ  
5×2 = 10

(a) How does Aristotle distinguish between ‘form’ and ‘matter’? 
অ°ািরŶটল িকভােব ‘আকার’ ও ‘উপাদান’-এর মেধ° পাথ�ক° কেরেছন ? 
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(b) What is Cartesian ‘method of doubt’? Explain briefly. 
�দকােত�র ‘সংশয়পdিত’ কী ? সংেkেপ আেলাচনা কেরা। 

(c) Explain the importance of criterion of truth in Descartes’ philosophy. 
�দকােত�র দশ�েন সত°তার মানদেčর grtিট আেলাচনা কেরা। 

(d) ‘Whatever is, is in God, and nothing can exist or can be conceived without God’ – 
What does Spinoza mean by the statement? 
‘যা িকছু আেছ, ঈƬেরই আেছ এবং �কান িকছুই অিstশীল হেব না অথবা �বাধগম° হেব না ঈƬর ছাড়া’ — 
এই বােক°র dারা িsেনাজা কী বুিঝেয়েছন ? 

(e) What is the distinction between Truths of reason and Truths of fact? Explain after 
Leibnitz. 
বুিdসংkাn সত° এবং তথ° সংkাn সেত°র মেধ° পাথ�ক° কী ? লাইবিনজেক অনুসরণ কের ব°াখ°া কেরা। 

(f) Explain Leibnitz’s view on Innate Idea. 
সহজাত ধারণা সmেn লাইবিনেজর মত আেলাচনা কেরা। 

  
3. Critically explain Plato’s theory of knowledge. 

�pেটার jানতtt সিবচার আেলাচনা কেরা। 
15

  
4. Explain Plato’s theory of forms or ideas. What are the objections of Aristotle 

against Platonic theory of Ideas? 
�pেটার আকার বা ধারণাতtt ব°াখ°া কেরা। �pেটার ধারণাতেttর িবrেd অ°ািরŶটেলর আপিtgিল িক 
িক ? 

8+7

  
5. How does Descartes arrive at his principle “cogito ergo sum”? Can it be regarded 

as the foundation of his philosophy? – Discuss . 
�দকাত� কীভােব ‘আিম িচnা কির, অতএব আিম আিছ’ — এই সূtিট আিবŴার কেরন ? সূtিটেক িক তাঁর 
দশ�েনর িভিtrেপ গণ° করা যায় ? 

10+5

  
6. Explain Spinoza’s theory of knowledge.  

িsেনাজার jানতtt আেলাচনা কেরা। 
15

  
7. How does Spinoza define ‘Substance’? Explain, following Spinoza, how substance 

is related to attributes. 
িsেনাজা কীভােব dেব°র সংjা িদেয়েছন ? িsেনাজােক অনুসরণ কের dেব°র সেñ gেণর সmক� ব°াখ°া
কেরা। 

8+7

  
8. What are the characteristics of Leibniz’s monad? What are the different kinds of 

monad according to Leibniz? How does he explain their relation? 
লাইবিনেজর িচৎপরমাণুর �বিশŶ° কী ? িতিন কত pকার িচৎপরমাণ ু sীকার কেরেছন ? িতিন কীভােব 
এেদর সmn ব°াখ°া কেরন ? 

7+3+5

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––— 
 



CBCS/B.A./Hons./1st Sem./PHIACOR02T/2020, held in 2021 

1074 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.A. Honours 1st Semester Examination, 2020, held in 2021  

PHIACOR02T-PHILOSOPHY (CC2) 

WESTERN LOGIC-I 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 GROUP-A 
1. Answer any five questions from the following:

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 
2×5 = 10

(a) What is the negation of a tautology? Why?
একিট sতঃসতয্ বােকয্র িবrd বাকয্ কী ও েকন ? 

(b) Define Material Implication. 
বstগত pিতপিtর সংjা দাও। 

(c) What is propositional function? Give an example of it.
বচনােপkক কােক বেল ? বচনােপkেকর একিট উদাহরণ দাও। 

(d) What is truth-functional connective?
সতয্ােপk েযাজক কােক বেল ? 

(e) If Fqp  ½ , then determine the truth value of the statement: 
   )()( pqqp ¬º¬  

যিদ Fqp  ½  হয়, তেব )()( pqqp ¬º¬ -এর সতয্মূলয্ িনধর্ারণ কেরা। 
(f) Define ‘ � ’ by truth-table. 

সতয্সারণীর সাহােযয্ ‘ � ’ এর সংjা দাও। 
(g) When is an argument invalid? 

একিট যুিk কখন অৈবধ হয় ? 
(h) If “ QP º ” is true, then determine the truth-value of  “ )(~ QP � ”. 

“ QP º ” সতয্ হেল  “ )(~ QP � ” এর সতয্মূলয্ িক ? 
(i) Symbolise the following: 

pতীকািয়ত কেরাঃ 
(i) p is the necessary and sufficient condition of q. 
 p q এর পযর্াp আবিশয্ক শতর্। 
(ii) p if q 
 p যিদ q 
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(j) Give two logical equivalences of the proposition ‘ BA ¬ ’ in terms of (I) ‘ º ’ and 
‘~’, (II) ‘˅’ and ‘~’. 
‘ BA ¬ ’ এই বচেনর dিট েযৗিkক সমমান বচন দাও (I) ‘º ’ ও ‘~’ এর dারা, (II) ‘˅’ ও ‘~’ এর 
dারা। 

(k) If A and B is true and X and Y is false, then what will be the truth-value of 
)~( BBx ½¬ . 

যিদ A ও B সতয্ হয়, এবং X  ও Y  িমথয্া হয় তাহেল )~( BBx ½¬ -এর সতয্মূলয্ িক হেব ? 

(l) State the rule of Absorption (Abs). 
Absorption (Abs)-এর নীিতিট েলেখা। 

  
 GROUP-B 

2. Answer any two questions from the following: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ  

5×2 = 10

(a) What are the differences between exclusive disjunction and inclusive disjunction? 
িবসংবাদী এবং অিবসংবাদী ‘অথবা’-র পাথর্কয্ েদখাও। 

(b) What is counter example? Explain with example. 
বাধক দৃŶাn কােক বেল ? উদাহরণ সহ বয্াখয্া কেরা। 

(c) Distinguish between Rules of Inference and Rules of Replacement. 
অনুমােনর সূt ও pিতsাপেনর সূেtর মেধয্ পাথর্কয্ কেরা। 

(d) Explain the method of Indirect Proof with an example. 
একিট উদাহরেণর সাহােযয্ পেরাk pমাণ পdিত বয্াখয্া কেরা। 

(e) Distinguish between a truth-functional compound statement and a non-truth 
functional statement. 
সতয্ােপk েযৗিগক বাকয্ ও অসতয্ােপk েযৗিগক বােকয্র মেধয্ পাথর্কয্ িনণর্য় কেরা। 

(f) What is Conditional Proof? Explain with example. 
উদাহরণসহ pাকিlক pমাণ পdিত কােক বেল উদাহরণসহ বয্াখয্া কেরা। 

  
 GROUP-C 

3. Answer any two  questions from the following: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

15×2 = 30

(a) Determine whether the following statement forms are tautology, self-
contradictory or contingent by means of truth table: 
সতয্সারণীর সাহােযয্ নীেচর বাকয্াকারgিল sতঃসতয্, sতঃিমথয্া না আপিতক তা িনণর্য় কেরাঃ 
(i) )]([)]([ rpqrqp ¬¬�¬¬  

(ii) ])[(])[( rpqrqp ¬¬�¬¬  

(iii) )()]~(~)[( qpqpqp ��º½º  

3×3=9
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(b) Use truth-table to determine the validity or invalidity of the following arguments 
(any two): 
সতয্সারণীর সাহােযয্ িনmিলিখত যিুkgিলর �বধতা বা অৈবধতা িনণর্য় কেরাঃ (েয-েকােনা dিট ) 
(i) TSR ¬½ )(  

 )( SRT º¬  

? )()( SRSR ½¬º  

(ii) )()( JIJI º¬½  

 )(~ JI ½  

? )(~ JI º  

(iii) If the weather is cold or the sky is cloudy then either we go for shopping or 
we go for swimming. It is not the case that if we do not go for shopping then 
the sky is not cloudy. So, either the weather is cold or we go for swimming. 

 যিদ আবহাওয়া ঠাčা থােক অথবা আকাশ েমঘাcn থােক তেব আমরা েকনাকািট করেত যাই 
অথবা সাঁতার কাটেত যাই। এমন নয় েয, যিদ আমরা েকনাকািট করেত না যাই, তেব আকাশ 
েমঘাcn থােক না । সুতরাং, হয় আবহাওয়া ঠাčা থােক অথবা আমরা সাঁতার কাটেত যাই। 

3+3

  
4.  (a) Why is truth tree method called a decision procedure? 

সতয্শাখী পdিতেক েকন িনণর্য় পdিত বলা হয় ? 

3

(b) Determine whether the following statements are tautologous or not by using truth 
tree method: 

সতয্শাখী পdিতর সাহােযয্ িনmিলিখত বাকয্gিল sতঃসতয্ িকনা েদখাওঃ 
(i) )]&([ BBAA ���  

(ii) )]()[()( CACBBA �����  

4+4

(c) Use truth tree method to determine whether the following set of propositions is 
consistent. 

সতয্শাখী পdিত pেয়াগ কের িনেmাk বচনgিল সংগিতপূণর্ িকনা িনধর্ারণ কেরাঃ 
 )( QP ��  
 QP ��  
   QP ��  

4

  
5.  (a) How can the consistency of a set of sentences be determined by using truth-tree 

method? 
সতয্শাখী পdিত pেয়াগ কের িকভােব একgc বােকয্র সংগিতপূণর্তা িনণর্য় করা যায় ? 

3

  
(b) Use truth-tree method to test the validity of the following arguments: 

সতয্শাখী পdিত pেয়াগ কের িনmিলিখত যুিkgিলর �বধতা িবচার কেরাঃ 
(i) CBA �)&(  
 )(/ DCBDA ½�?��  
(ii) CA �  
 CBACB �½?� )(/  

4×3=12
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(iii) Moriarty will escape unless Holmes acts. We shall rely on Watson only if 
Holmes does not act. Therefore, if Holmes does not act, Moriarty will escape 
unless we rely on Watson. 

 মিরয়ািটর্ এিড়েয় চলেব যিদ না েহামস ্  কাজ কের। আমরা ওয়াটসেনর উপর িনভর্র করেত পারব, 
েকবল যিদ েহামস  ্ কাজ না কের। সুতরাং, যিদ েহামস  ্ কাজ না কের, তেব মিরয়ািটর্ এিড়েয় চলেব 
যিদ না আমরা ওয়াটসেনর উপর িনভর্র কির। 

  
6. Construct formal proof of validity of any three from the following arguments: 

(Do not use C.P. or I.P.) 
িনmিলিখত েয-েকােনা িতনিট  যিুkর আকারগত �বধতা pমাণ কেরাঃ 
(C.P. বা I.P. বয্বহার করা যােব না) 
(i) )()( AAZZ ¬¬¬  
 )()( ZZAA ¬¬¬  
? AA ¬  
(ii) )()( EIMW ¬º¬  
 IW ½  
 )~()~( MIEW ¬º¬  
? ME ~�  
(iii) WWRR ?¬½ /)~(  
(iv) Socrates drank Hemlock. Therefore, either Athenians were happy or not. 
 সেkিটস েহমলক পান কেরিছেলন। অতএব, এেথনীয়রা হয় সুখী িছল অথবা সুখী িছল না। 

5×3 = 15

  

7.  (a) Use the method of conditional Proof to prove the validity of the following 
argument: 
pাকিlক pমাণ পdিতর সাহােযয্ িনmিলিখত যুিkিটর �বধতা pমাণ কেরাঃ 
 SE ¬  
 )( NSE ¬¬  
 )( FNS ¬¬  

? FE ¬  

4

(b) Use the method of Indirect Proof to prove the validity of the following argument: 
পেরাk pমাণ পdিতর সাহােযয্ িনmিলিখত যিুkিটর �বধতা pমাণ কেরাঃ 
 )()( GFED ¬¬½  
 GFDHG ?º¬½ /)()(~  

3

(c) Prove the invalidity of the following arguments by the method of assigning truth 
values: (any two) 
সতয্মূলয্ আেরাপ পdিতর সাহােযয্ িনেচর যুিkgিলর অৈবধতা pমাণ কেরাঃ (েয-েকােনা dিট ) 
(i) )( PWE ½¬  
 )()( DPOW ¬º¬  
 ET ¬  
 HG ~¬  
 DO ~~ º  

? T  

4+4
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(ii) )( MLK º¬  
 KNL ~)( ½¬  
 )~( NPO ½¬  
 QQP ~)(~ º½  
 MPR ~)~( ½½  
? RK ¬  
(iii) If Julia is intelligent and studies deeply, then she will get good grades and 

pass her courses. If Julia studies deeply but lacks intelligence, then her 
efforts will be appreciated and if her efforts are appreciated, then she will 
pass her courses. If Julia is intelligent, then she studies deeply. Therefore, 
Julia will pass her courses. 

 যিদ জুিলয়া বুিdমতী হয় এবং গভীরভােব পড়ােশানা কের, তাহেল েস ভােলা েgড পােব এবং পাস 
করেব। যিদ জুিলয়া গভীরভােব পড়ােশানা কের, িকnt বুিdেত খােটা হয় তাহেল তার pেচŶা মলূয্ 
পােব, এবং যিদ তার pেচŶা মূলয্ পায় তাহেল েস পাস করেব। যিদ জুিলয়া বুিdমতী হয় তাহেল 
েস গভীরভােব পড়ােশানা করেব। সুতরাং জুিলয়া পাস করেব। 

  
8. Answer any three questions from the following:

িনmিলিখত েয-েকােনা িতনিট  pেűর উtর দাওঃ 
5×3 = 15

(a) Use truth-tree method to determine whether the following statements are 
equivalent: 
সতয্শাখী পdিত pেয়াগ কের িনmিলিখত বাকয্gিল সমাথর্ক িকনা, িনণর্য় কেরাঃ 
 BABA ��� &),(  

(b) Use the method of indirect proof to prove that the following statement is 
tautologous: 
পেরাk pমাণ পdিতর সাহােযয্ pমাণ কেরা েয িনmিলিখত বচনিট sতঃসতয্ঃ 
 )(~)( CABA ¬½¬  

(c) Use the method of conditional proof to verify that the following is a tautology: 
pাকিlক pমাণ পdিতর সাহােযয্ িনmিলিখত বাকয্িট েয sতঃসতয্, তা pমাণ কেরাঃ 
 )]()[(])[( CDADCBA ¬¬¬¬¬½  

(d) If TCBA  ,,  and FZYX  ,,  then determine the truth-value of the following: 

যিদ CBA ,,  সতয্ হয় এবং ZYX ,,  িমথয্া হয় তেব িনmিলিখতgিলর সতয্মূলয্ িনণর্য় কেরাঃ 
(i) )]~([ PYYP ½¬¬  
(ii) )]()[( ZYYAX ¬º¬¬   

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

  to their own respective colleges on the same day / date of examination within 1 hour 
  after end of exam. University / College authorities will not be held responsible for wrong 
  submission (at in proper address). Students are strongly advised not to submit multiple 
  copies of the same answer script. 

 
––––×––— 

 


























